=3

O1.

02.

03.

04,

05.

cnt29—~2\E cosecO+3 =0 T, 0 97 T Fo?

(a) +45° (b) +£135° (c)135° (d) None of these
Tar4E: (c); cosec’® —2+v/2 cosecH +2 =0 = (casecﬁ—ﬁf =0..0=45°135°
2
tan™ 23{2 =sin" 232 +cos™ 1 bz ANFAT X QF T Z40-
1 —x 1+a 1+b
a-b a+b 2ab
a b C d) None of the
()I+ab ()l—~ab ()a2+b2 (d) None o >
2X . 2a 1-b*
19 (b); tan™ —=sin" +cos™
(b); tan -2 - Axar 0 1+ b’
3, 2tan”' x =2tan"'a+2tan"'b=2(tan" a + tan""’ b)
4a+b a+b

a0, tan”' X = tan SLoX =
l1—ab 1—ab

a3 fagrem (x@+1)cm ondy ff(2 <rg ey 7S e 30° @ 45° | fagwiba crawe o

] 1

a b) 2 C —ﬁ—l—l d) None of these
@ 55 (b) © 5(/3+1) (d)
T (c); [@gre™ sine 3@ W, A
AB =(ﬁ+1) ___bAB:(ﬁ—.Irl)smﬁIS LABS . i ot
sin45° sinl105° sinl105°

If = == 2 p30°_ 45y
.-.@qwaﬁmw:EIABxBC[=E><AB.BCsin30“ (V3+1)

1 I 1
—Exzx(ﬁ+1)x§—5(x/§+l)

1

C-QT AT IO A y =cX(X +1) IFANMA YRS o ~rfs x -wwwa e 30° et Seoiy Fa5d?

(a) V3 (b) (d) None of these

L (C)‘L
V3 V2
TAGR: (b); G 4R SUFA CFG X WCH AN THRIOT = @ @i ooty T O tangent 9 =3 T
fefa Sem

1

“ € tﬂ?W = tan 30° =_ﬁ
K aF @I IR &0 (X —y +3)° +(kx +2) (y—1) = 0 w45 a6 @ e a7
(a) 2 (b) -1 (c) 2 (d) None of these

TEE: (€); Xy IT M L& 4R : — 2xy & kxy
feg 3187 (F@ xy TF @ AT ARTS AT 7 | Y xy WA =0 . k-2=0=k=2

EEEE 0 | ST



oo SRR R

06. x*+y*=16 &M x ¢ y wE TEN As Bfqrs mmug@ﬁam (AT AB 97 ToF wfee
TAPLE G 01T AR Raest St Tioa cFaws F A2

(a) 4 sq. unit (b) 6 sq. unit (¢) 8 sq. unit (d) None of these
- () X2 +y? =16 390 X WFE A4, 0) ¢ y wwE B(0, 4) e @m w1 _sos
C=(2,2) ~OC=+22+2* =22 s @I{im
-. Area = (2+/2)* = 85sq. unit v
07. 4x*+5y? =1 Boran 936 CFRTT Ok 29 gl faeiearar g v el a7
(a) %/E (b) 4 (c) 4/5 (d) None of these .
> 3 1 1
2 X y 4 = ]
TeE: (d); 4x +5yz= = + =1 .e= |43
/4 1/5 = - NG
|
] ] 1 1
G, a’=— a=— QR b’ =— . b=—F
TT T2 5 J5
. a 1 J5
-, Bograa o (FIFFT ¢ O WA METE TP Ey —ae——= —
e 25 2
1— .
[ H9D W A1)
|2I| |I] |f| w
08. x’-y’ =18wﬁwmwmwﬁrww?
(a) 2+/2 unit (b) 12 unit (c) 3 unit (d) None of these

sarg: (b); x° —y° =18. 3 6 wweren wikqge | F1ae 3 THY F S A X (77 A |
e=+2 -mmwww=2ae=2x«/_ V2 =12 unit
09. y=x9R y’ =16x @AMl & AT (FEF (FATT FO?

(a) 512/3sq. Unit  (b) 128 sq. Unit (c) 128/3 sq. Unit (d) None of these
TgE: (C); y=x 9® y° =16x = x*=16x =>x’-16x=0 .. x=16,0
16 ' i 27716
;. (S TR SR CREd CRawe =_[(4«,E—x) dx = 4x§x3”—%~
0 - -0
2
316718 _040=12°
3 2 3
10. Jl K 97 T fAfg <4
0 \/2::{—1(2
n ]
(a) ) (b) > (c)0 (d) None of these
| |
A (a),,[ — 2 _l-—cb‘i = [sin'“(rxc—1)]:3,=sin“C!—S.in"1=B~—E=—E
P 2x—x2 pAll—(x—1) 2 2
11. Ie“secx(l+tanx)dx Q7 T =7 & |
(a) e*secx+cC (b) e* cosecx+c (c) e"tanx +cC (d) None of these

T o lssw RTINS emommmeen

-




s e SRR

FAAT4E: (a); J.e" secx(l+tanx)dx = j(e" secx +e”secx.tanx)dx =e*secx+c
[+ [ e {f(x) + '(x)}dx = e*f(x) +c]
dy

12. 3 y=10"" 7, vt Fa a7 T F©?
X .

- . 10/
(ﬂ.) loiﬂgiﬂlnil lﬂg‘, lO.Cﬂt(K) (b) 1 Ulng{smx] ngE /'8in x
(c)10™" 1og 10 (d) None of these
s (d); y =10 = Iny = log(sinx)x1n10 = Inl(51ln0x) xIn10=In(sinx)

n
- y. ! cosx= 10" cot x
dx sin X

13. ABC g fagres AB, BC, CA 32d <9k foqft 97 qui@w 2N, 4N € 6N «a% JI7 cﬁmm%ﬂw
fFarie | Sitwa Afea I 972

(a) 23N (b)12N (c) 2N (d) None of these

T4 (a); ABC 13rg fagrem oft I <ams frarie soay sTies 414t 20T Sime a1fe W9 208 = +/3 X
HILET @ | @TT 2N, 4N 8 6N 9T ANET G- T 92 QS YT ST 2 |

. @ T = 2+/3N
14, 3IM y=Iﬂg(a:{+b) R, Oy, GI T F9?
(1nta™ ) TN ) ) P
b
(a) (ax -I—b)” (b) (ax +b)" (c) (ax +b)" (d) None of these

aaE: (b); y =log(ax +b)  y, =(ax+b)™ .(a)

y, =(ax +b)? (-1).1.a°

y; =(ax+b)7 .(=1)’.1.2a° .~y =(=D"" (ax+b)™" (n—1)!.a"
(-D"" (n-1)la"

T ax +b)°
15. @=f6 wme Frere 10kg o&ta @3 IJTE THed WA 2kg GO T AR G ATYRT I AT I
FEerera arr zate | 3 Sfim AT 5 B=sin_'% Y O3 Wi I fadfy < |
(a) 10kg (b) Skg (c) 11kg (d) None of these
F141: (b); ZFPIHW_, =0=2c0s0" + FcosO=10sin0O R kg wt ok
. 3 |
e 10sinsin™ = -2 .
nr,Fzmsme < or, F = > S F=5kg wt
cosB 43
cossin~ = ]
5 10kg wt 10cos 0

16. lzmﬂﬂﬁﬁwmwm Okg ST« IEMAT ANE | TF AT (AT S%m Ta G Yoa TAT vt

YT AARBANET TIZH A OLF Woivd 9o el o |
(a) 126 kg (b) 63 kg (c) 84 kg (d) None of these

TareE: (b); @ F0T AR, w(6—-5.25)=9%x5.25 .. w =63kg —wt

feow BN i




TR § |

17. @3 Sreamsa 90m v@ e 30" FTs= @ & I9qeea off (el =91 | SreAiEd Twel I 15 m =W o[
&b Brewaa A faqre ware o7 | offw wifveas o592

(a) 37.8m/s (b) 67.8m/s (c) 38.7m/s (d) None of these
180
S (a); X =uco0s30’.t=90 =>ut = —
(a) N
. | 1 180 180 1 ki
h=15= 30t ——gt’ =15=———-49t" = t=2.75 .. u=—. =37.8ms™
usin 2gt > JE S 111 .J§ XL ms
18. u TITT R TTSCHT A 45° T e T Wi “Argm Z4-
2 5 - .
u u-
(a) — (b) — (c) (y ) (d) None of these
2¢ J2e Jg
AL (¢); u WO 8 WaEEd AN 45° @ [AEe Im S g 1 FHEiieSs e s
__3[1.]"
g (Ve
19. 2.2m/sec’ APA v @I fTweq B S0kg SR @I @I o wiwrE | 74 sl Sud Tore
T, O fEro e afefa Fo? [ Ans: b]
(a) 380N (b) 600 N (c) 650 N (d) None of these

sarg: (b); R =mg+mf =m(g+f) = R =50(9.8+2.2)=50x12=600 N
20. W Rgee P @R 2P Witww qft 99 feariier | aeuftee faed St o oo ww 8 ave I ware wfed
fre weifree e | P 3t i e

(a) 12 units (b) 8 units (c) 4 units (d) None of these
ﬂmmm(ﬂ;jizr 2P 'm,1= 4 q, 4P=2P+8 49, 2P=8 ..P=4
2P (2P +8) 2 2P+8
21. (1011),x(111), =ze?
(a) 10011 (b) 101101 (¢) 1001101 (d) None of these
sreE: (c); (1011), x(111), =1001101
1011
x111
1011
1011x '
1011xx
1001101

OBITIS FIEAFCEALT UIZA I FAAAE TG TS A1 |
22. I A=R-{3},B=R—{l},f:A—> B, f(x)= X2 . O f(é]ﬁ‘"(gj a7 TH F67

X—3 2 3
(a) 2/3 (b) 4/3 (c) 1/3 (d) None of these
s (c): £(X) = — =2 . f(x) = 3X~2
X—3 x—1
3 2 -1
—=2 3x—=-2 —
f[éj f"|[3]=2 + 3 = 2 +0=_1>< 2 =_1,
2 3 §_3 3_1 -3 2 -3 3
2 3 2




st v SRV

23. 3 a=%(—l+-./—3)tﬂ?ﬁ b=%(—]—d—3)ﬁﬂ,w a’+a’b* +b* Qg T (@0 T2

(a) —a+b+1=0 (b) a+b+1=0 (c)a—b+1=0 (d) None of these

STTE: (b): @, a=%(—1+\/—_3)=m ax 1:,=%|[-1-—../-3)=m1

a’+a’b’ +b* =0' + 0’0" +0* =0’ .0+ (@) +(0) 0 =0+]+e’ [ o =1]
a+b+1=0 [1+o+0’=0]

24, x*+ax+8=0 FMewilSa @b T 4 @ x* +ax +b=0 TS FT GB AT=>> T A, b «@F T
Pe?

(a) 9 (b) -6 (¢c) -9 (d) None of these
T (a); 4, X° +ax +8=0 AM AN =Bz P . 4P=8 — P =2
S P+4=2+4=a . a=-6

49, x* +ax +b=0 TN 9T FRA T q (. TETT )

S.gq+gq=2q=a=6 ET,q:g:S S b=q"=3" .. b=9
25. fy Az[“‘“ﬁ*ﬂ“g} R A1|=1wm 0 @7 W F?
sinO0 cosH |
(a) 6=0° (b) 0=45° (c) 6=0" and 45°  (d) None of these

AN (C); FIFTPCE0T (LT I |
26. @36 et 3% A, 2% AT @ ofF gE T W | REW @ @ RS o GRT =6 | TR AW 96 S
MCERINCGE Neaniiny [ Ans: d]
3 4 2 4 | 2 4
(a) C:ch, (b) P_::] ;3 P, © cia C;
FTIYE: (d); QT AMT 75 @7 22 =26
;. (S AU foRib I67 GoteT FRSTeT 93 Wl ST FWE= = 0

(d) None of these

27. (II +22x)ﬂ a7 Rgfers x'0 aa w7t wvey
_2x)
(a) 21504x'"° (b) 21054 (c) 21540 " (d) None of these
Tgi: (d); (llj;;z =(1+2x) (1-2x)72
=(1+2x) (1+4x +12%° +32%° + oo +10.2)° X2 +11(2)O X0 o )

L XU = (2.10.2° +11.2'%) =2 5120+ (1024x11) =21504

—

28. A=i+2j+k a® B=—i+ j—2k 7039 fq woEE @ fefar 3
V3 ]

(a) cus_'-;— (b)cos™ 5 (c) sin > (d) None of these

T (a); A=i+2j—k @ B=—i+]-2k

- A.B —~1+2+2 3 1
.ASB tﬂﬂfﬂ@‘g’ﬁ? (& 0 T O =cos™ = cos =cos ' = =cos!' =~
J6 x~/6 6 2

ECAE | > |




CTETTR ) 6 |

29. f(x)=x"+3x+1 a2 g(x)=2x -3 T (gof) (1) @7 T7 == ¢
(a) 10 (b) 13 (c) 7 (d) None of these
Tag: (c); f(x)=x"+3x+1 g(x)=2x-3
- (of)(1) = g(fF(1)) = g(1+3+1) =g(5) =2x5-3 =10-3=7

30. Lim& S "2 g7 wm ffr
x =) )
(a) 1 (b) 3 (c) +2 . (d) None of these
s (a); B & FE T2 _im € —€ (] 4 Hospital Rule)
X 2X
im € +¢€° 1+1

(La' Hospital Rule) = = =1

. mfReE

3]. T30 9Qg (AF TG FE G0 IF AT GLICE Im TP A oTT 39 | R8T | m IO e IE0F T AL FMI?

— x—0
2

(a) 1sec (b) 1.414 sec (c) 0.414 sec (d) None of these
HAAYE: (C); ST CFA, T CFL,
. 1 1 )
S:ut+lat* T, 1=0+l,:1_12 S=ut+—at® A, 1=2t+—x2t’
2 2 2 2

_d Do -2 2 _ 2 _ -2
T, 1_5 C.a=2ms A, +2t+1=2 T (t+]) =2 T, t+1=+/2
g3 v=u+at 9, v=0+2x1=2ms" S.1=1414-1=0.414 sec

32. «3ft Fifeenm afre sfEes sor-aq smes 1x1072m’, Srem@r 300K @3 517 2.5x10°Nm™ | e fgz
@0 g SRHE (@7 0@ G | FE A T 1.3x10° Nm™ = | II7© SHEH-99 &7 o7 fefy 77
(a) 0.18 Kg (b)0.015 Kg (c) 0.018 Kg (d) None of these
PV, 2.5x10°x1x107
P,  13xI0°
L P=P—-P,=12x10 ax V=V, -V, =0.92x10"
mRT  _PVM _12x10°x0.92x107x32x107"

5PV =— —
M RT 8.31x300
33, 39 wE (U0 TN O30 4B TrE G2 ATS TIZ FI0TT IS G0l AFE) (@ TH9 HowrT Id Of ey
fon TIate @ oy Sfewrs I S 0 | ¥ e -

(a) 6 sec (b) 5 sec (c) 7sec (d) None of these
TrgE: (b); FECE CLFe 799 S, :%g(zt —1)

srgE: (b); PV, =P,V, =2V, = =1.92x107

1, m=0.015kg

2 o7 GRS SAowE 79 szégtg

10
TS %g(2t—]):%_gt§ qa, 2t-1=3*=9 t:?=5 sec

1, O30 ooy *WMede 99y 20min | 20% @F 80% a7 Y7 FF LS AT AN 3
(a) 20 min (b) 30min (c) 40min (d) None of these

5 SEREEE



s e SR SR

TargE: (c); Ty, = 2093 = A= D3 o 55 =0.03465min™
A T,,, 20

L=

I«‘u.=-l~lr|C =>t=11nc = t= : lnﬁq=40min
t C, A C, 0.03465 20

35. aIHT (M B 99 Kg | $© @ TYT WAT BT NHBTe SAFS G ~{awET Fes o ©a
100 Kg =2

(a) 4.23x10" m/sec (b) 1.41x10” m/sec (c)9.0x10” m/sec (d) None of these

2‘1

T (8); m= e msl—v‘ﬂz[?] 4, szcm_(nl:ln)b
| —

v? C

-

C

I, v=c\/l—(ﬂ) :3;:10“\]1_[2} Sv=4.23x%x10"ms
m 100

36. 29 efoTes e W6 SEas A+ 60° I Seifee T 32 0w W0y AT e 12"‘ ANGAT (91 |
AT IS @ 2
(a) 13.5° (b) 76.5° (c) 4.16° (d) None of these
Ty (b); 43, Barea TS @ 0 |
S tan 0 = 5,““ = 51.1160 A, O=tan™ 51.n60 =76.5°
sint  sinl2° sinl2°
37.* 1000 Hz sz {2 2307 Ifeey @t G5 75km/ hr QU 9S ST TTHFS-97 fite ey s |
AIFT 7 f7F0 GRETELA WS SOTTT F1F TO7

(a) 940.62 Hz (b) 1067 Hz (c) 1881.24 Hz (d) None of these

Yoxne—2% 1000 - o'=10671
V-V, 330-20.83

38. e cow erewd e ¢ (28 -3 1+ -k (31 - &)
(a) 4 (b) 8 (c)-4 (d) None of these

JadiE: (b); n' =

i ]
e (d); (21-3)).| (1+j-K)x@Bi—k)| =21 =3}).[1 1 ~1|=(21-3j).|(-1 - 2]-3k)|
3 0

= (21— 3)) - V14 = 2V14i - 3V14j |
39. 250 gm A @3R @R WS 200gm SRR SIS A9 AR RO I T, G S FATE 130

seconds € 60seconds -4 60°C @@ 55°C =€ o/@l 347 =7 wa@Ed W o BT o
(FrEToTEs O gy 10 cgs 99 |)

(a) 0.55cal gm™ °C"' (b)0.60cal gm™ °C™
(c) 2.65cal gm™ °C™" (d) None of these
TR (a): (250x1x5)+10x5 _ 200xSx5+10x5 - $=0.55cal gm™ °C-

130 - 60

JET, | |




TIETTR | &

40. ez fefEme R x zoz 3 | Be+,He—';C+ X
(a) electron (b) proton (c) neutron (d) None of these
FagE; (¢); X QI SA AR =9+4—-12=]
a2 (BT AT =4+2-6=0 .. x 99T N 3% ¥ neutron.

41. 5600A° % tarka @ 7 M@ 720 IS T Im IR SRES A o s e R I | AR
73 Syt A v 0.2 mm | 120 PReTe T T4l qay T w9

(a) 2.8mm (b) 1.21x107 m (c) 1.4 mm (d) None of these
-7
TNYE: (a); dz=?£::>a =E= >6x10 _Tl =2.8mm
a dz 0.2x10™
42. QTR CHHIEd @ e - [ Ans: a]
(a) 3 types (b) 2 types (c) 4 types (d) None of these

43. 3x107°m IFER 93 AR 9T o= fFefm v | T fpees sps™ 20x10° Nm™ |
(a) 4.52x10° joules (b) 2.26x107 joules (c) 1.13x10°° joules (d) None of these
sarg: (a); W=2x4mr’ xT=2x4x3.1416x(3x107)* x20x10™

s W=4.52x10"° Joules
44. 16 @32 36 GFF Ao wwel [ vt qf s @ | m TE 9itg | Eeen 1fS (AF F© I G0 om0
T 9T TOH AT A W T2
(a) 40 cm (b) 60 cm (c) 66.67 cm (d) None of these
ILE: (a); 49, géereq A 1, 16 Ao et 2 afe o Mm@y X
-, 367rm Fer (k42 Ife zre mr @ (1-X)

16 36 I R il 2
oS, E =E,, 5= : [--.Ez_{\ (Ff - T C‘)
X (1—x)° g
46 4 2 i: B ‘.
— A X =— = SX=—m=—x100cm=40cm
X 1-x 10 5 5 5

45. @3 T pIE GITONA FIo 41 2o (@ OF TGF (F Ta7 fcss A | 92 SR PR TG (e 10 cm 7

ferarers fa oinew oo | pRenee 180° ciret gfea fatet wgw faets1F 77 (i #inear Ama?
(a) 12.6 cm (b) 10 cm (c) 6.3 cm (d) None of these
M,xM, _ M xM, :>M, =(J~:-!~ICI')2
4n(x+10)> 4r(x—10> M, (x-10)?
M, _ M,
(x—=0) (x+£)

___}(x+€)i:M,=(x+10)f —52:’{:2){:.{?:10[@@*51%1@@]
(x—=0) M, (x-10) 20 20

46. @ G0 CFS @ECET 0 W 1,69 @ I T4 T, ST 97 @EIE F© A2
(a) 2.6 sec . (b) 1.3 sec (c) 3.38 sec (d) None of these

AL (a); T ST, L' = L, T, L = L, = 1.65L, A, T, =2+/1.69 =2.6 sec
T, VL, T, VL, L,
TR [

FgE: (b);

CEICIERE]

Again,




RN ...

47. =fafos e 2 afefm i gwzar ‘ [ Ans: a]
(a) Imaginary (b) Real
(c) Both real and imaginary (d) None of these

48. 3 m i @ 1 mm I RFE @36 4o o 10 kg oo wrar B 26T | T 229 SoAMITT SHR-GF Q41E @t
PP SAATS TG 12.5% 10" dyne /cm?® @ 0.26 T IR0 G7 SR SHRI67 (39 94 |

(a) 2.6x107° cm (b) 2.6x10* cm (c) 2.6x107 cm (d) None of these

AMgE: (a); Y =E = mg}
Al 7wrel

o1
[1 dyne /cm® :ENKm* . 12.5x10"dyne /cm’ =12.5x10'°N/m?]

- wdifagfe, %: mg 10x9.8

Y 3.1416x(0.5x107°) x12.5x 107

v APRPFE = saeieTa S x dfRghe
Ad

— = 0.26 X 9.98 x 107* = Ad =026 X998 X 104 X 10~ 3m = 2.6 X 10~5cm

49. JE@E A 72kmh™ TEEfere v I 1T @HII v 1 ms | JBIFIF 2T IJPYE F97?
(a)200m (b)400m (c)600m (d) None of these

A (b); a, =—v—-:>r=¥=400m
r

50. T ST wr A «@iG Feir -« Peew Rpfe crt zo1 30° | Brew @t 60° 20 watee affesmans o7
(a) 2.414 (b) 1.414 (c) 2.732 (d) None of these

-(A+6mj . 60° +30°
S1n

=9.98x10™

S1n

A (b); = = i) 2 2 q, =S 51414
. A . 60° sin30°
5"15 Sin

SI. 20 3™ TR 719 @b ([@gfes o @ e @ 30 red/sec =® 1 (1@ 10 red/sec = | (@fe S 30@-

(a) 3.18 red/sec (b) 2.5 red/sec (c) 2 red/sec (d) None of these
TgE: (a); 0=2n1tx20=407 |

2 o B 2+, 2
o =m —200 ::>t1=m“ S =(30) (10) s.ou=3.18 rad¥sec’

v 20 2x40rm
Ans : D TE@ TR @fSF T9d @95 rad/sec?

52. <3 F®@G 1 m/sec’ PAw s R | FreBa S SieieT ae e oF 65 kg == fofv (@ 951 wIeq <t -

(a) 350N (b) 572N (c) 250N (d) None of these
TgE: (b); F=m(g—f) =65(9.8—1) =65x8.8=572N
53. Feoa @ it ot St e @ AT 7 KA 8 [ Ans: ]
(a) E=AcT? (b) A_T? =Constant (c) A T =Constant (d) None of these
54. 43 IEMH TAFS e M fawet 3 oMt oo gt FopT e #i1ea?
(a) 2 dB (b) 3dB (c) 6 dB (d) None of these
I 21

TerE: (b); B= li)lugl—z =1 Ulngl—’ =3.01dB = 3dB

1 I

IS | > | T




TR & |

55.

56.

S7.

58.

59.

KUET, CUET, RUET &g 3 51T |

fToa I9AICS S 726 B FACE a W3R b AT @ TS (A7

200

40 < ;

10Q L
200

AT -

102
(a) 30 Q (b) 25 Q (c) 13.33 O (d) All of these

TGE: (€); . a ¢ b @ @ R, =R, +R, =(20"+107)" +(207 +107)" =13.33Q

2.0 uC wHa @< 38 2.0x10° m/s Q@0 X —SFF IARA BECR | ORI GFR I GI0 Sherwa
E =10° a;[i] a2 @35 1% cva B =(0.20ay +0.40az )T W7 Som o zwet Srara Som

Im

T I ferarie Za?

(a) F=(0.8ay —1.6az)N (b) F = (1.0ax —8.0az)N

(c) F = (2.0ax +0.8ay —1.6az)N (d) None of these
Xy z

sra: (d); F=qE+qvxB =2ax+4]1 0 0
0 0.2a 0.4a

= 2aX + 4[(-¥)(0.4a) + Z(0.2a) ] =(2ax —1.6ay +0.8az)N

fTroa @IF SIfs 1% S Ty LTSy wH? [ Ans: c]

(a) *RTSR Few Fp=EAET 1x1072 W (0 dB)

(b) Rt Q6 YA AT S |

(C) *I3 OqF SNEECAT &) (P9 G& AT TS 7] |

(d) *ta @ SreNaE o e e | )

G SR SaEE FAEad y =2sin (500t —x), e fOKE @ A CUIS I FA WCR; @ SACH
T[T TO?

(a) 500 Hz (b) 250 Hz ~ (c) 1000 Hz (d) None of these

sgE: (b); y=2sinm(500t —x) ‘

qM, y=2sIn %E (500t — x)...........(1)

(1) 72 F =1 S AL FAA S y=ﬂsin—2§—(\ft —X) AT AL 9! FCH AR,

a=2m A=2m v=500ms™

- wrm, f=Y =290 55012
A 2

q3f6 I 2fem-a7 Fress oremmar 27°C @3 w9 50% | ST S & At Ifa w9 wwel 60%
TA? |
(a) 150 K (b) 600 K (c) 450 K (d) None of these

I | |



TR

Ty

FAAE: (a); ST L, n=1-—T"‘" a1, 0.5 =l—‘E
TI TI
T, |
/W, 2=1-05=05 =, T =42 -39_ ook
T 0.5 0.5
T T T, 0.4 0.4

. RO SRl I FEee -1 (750-600) K = 150K

60. =N ta T 1w 5191 e

61.

62.

63.

64.

65.

‘

(a) 4.57 mmHg (b) 4.53 mmHg
TE: (d); T Te ¢ 4.58 mmHg

@ SREA 25sec @ 15.0m’ Sfscem =i <ifeape = aFT WIZW 62.5 sec @ 25.0m° @& 07 “Ife=ye
T IR AT G7p 07 (SFHTaeT Sieeifers w7w =16)

(c) 4.59 mmHg (d) None of these

(a) 36.0 (b) 7.11 (c) 2.25 (d) None of these
d =16 , =7

LI d :urd2=d,x(i} :>d—,=16><[%] =36

I, d, I, - 0.4

50°C srmm@™m N,0, Rt K, 9939 3.11 atm | AR NO, 93 e 51 0.45 atm ==
N,O, 97 S 517 FS7 '

(a) 0.06atm (b) 0.07 atm (c) 0.065 atm (d) None of these
TYE: (¢); N,0, < 2NO, RfeFms oy, @M, K, =3.11 atm
2 PE
K, = P::"; —F I ;”F Pyo, =0.45 atm
Pyo, = ([;'15])“ =0.065 atm Pyo, =7 .

2S¢ & GG I 7RI WS T4 3 Ca SIRGIBI Sevtyy 27 | e Rfemna s 52
(a) 5,Sc+,n=5 Ca+ H (b) 5iSc+'n=% Ca+ H

() 5Sc+' n=% Ca+ H (d) None of these
AYGF AT ACAfFE &g 1.03 197 1.0 dm® A fieg e w0 36.4 om &% 79 “fewr T AT
Afre T 83 *rewar s ficfy o |

(a) 3.5% (b) 3.53% (c) 3.534% (d) None of these

TEE: (c); 1dm’ s “nffwsa =1030gm .. % =1 = f(?;)xlﬂ[]=3.534%

a6 IR gt HCN ¢ NaCN w0 5o gowrar 0.0 1M 1 %% HCN 97 S s5as 7.2 x 10" X
OIREE AFE HICT OH ™ SO 999E] $972

(a) 1.389x10° M (b) 1.3x10° M

[ Ans: a]

(c) 1.389x10° M
{ 297§

(d) None of these

KUET, CUET, RUET & 8 JN14d



(
TR &
0.

sa’t] ql, pH = pl<i:t +log Ol
[acid] 0.01

¢ -10 107" 107"
L [H]=K,=72x100"M - [OH ]= TR =1.389x107°M
Y

ATEE: (a); pH = pK, +log

a, pH=pK, +0 <1, pH=pK,

66. 3o 37 @ RfFaE 15% s5ig =@ 20 = | [fFmia 60% 7= F90e F© 7 917 [Ans: d]
(a) 112.7195 min (b) 112.7185 min (c) 112.1975 min (d) None of these
el (d); >¥ ¢Fg, K :llni = K= 1 In 100 =8.126x10™ min~
t c, 20 85
worm K=-nE st=an® =>t=——1 _1n2% . t=11276min
t c, K «c, 8.126x107 40
67. 1.881 gm TSEFEFE Na,CO, & It glrge F@ swed 250 cm’ 340 291 @ 5 25cm’, M/10
M@ 24.05 cm’ HCl g3t =< eifie 3t | Na,CO, @3 S04y (ST o4l oAfmlet o7
(a) 32% (b) 32.23% (c) 33% (d) None of these
Ja1q«: (b); cg&E 1.881gm
¢fq, cm’ ¥t @ Na,CO, =xgm .- A £4:45 :=<1:-ci = x=0.1275gm
S 106 1000 10 |
250cm’ gatd faew Na,CO, =0.1275x10gm =1.275gm
- CoBTEa *rer AT 1.88118—81i275 «100% = 32.23%
68.* f ZCF AT AGS *rewat TF 6a @=i0? [Ans: a]
(a) CO;: 49%, CFC: 14%, CHy: 18%, N>O: 6%, Others: 13%
(b) CO1: 50%, CFC: 13%, CH4: 20%, N,O: 8%, Others: 9%
(c) CO,: 60%, CFC: 3%, CHa: 10%, N.O: 18%, Others: 9%
(d) None of these
69. ZPU @R P USErG a[t @gs UF, 0o T 2@ & AT T (F6?
(a) *°UF, >*UF,  (b) **UF, > UF, (c) **UF,=""UF,  (d) None of these
HATYE: (a); AT (I 5@ |
70. T GEPTR AT=0a9 S2EIOM? : [Ans: b]
(a) \H,”H,’H (b) SL,. P> S (c) % Cu,3, Zn (d) None of these
71. GF3 BA € SANER @I AT 933 opnd A ¢ B 719 7o e et 9 @ 0.3 93k 0.2 1 B
M 99y 14 A A MO 99y 972
(a) 12.44 (b) 9.33 (c) 6.22 (d) None of these
2 2
0.2
TIYE: (C); Is _ d—”" = d, =d; X ‘s = d, _14:{—] s.d, =6.22
r, \d, I, 0.3
72. 20 mL NaOH g9t &=ffs w=re 0.5 M H,SO, @ftes 20.5 mL gwamew =1 | 53eiba (refai w72

(a) 1.025mol L™ (b) 1.025 M (c) 10.25M (d) None of these
sir: (b); H,SO, +2NaOH = Na, SO, +2H,0
)
S Va o8 g SaVab g _05x205x2 gy gas5M
SV, b V,a 20x1

fiow  SEEREECINE
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73.  25°C SIowmar Feea orafbe oo 96 vo7
Fe/FeS0,(0.1M)|| CuSO,(0.01M)/ Cu. Given: E%./re = 0.44V: E, oy =—0.34V;
(a) 0.78V (b) 0.10V (c) —0.10V (d) None of these
F9E: (d); Fe/Fe?* || Cu®' /Cu
Fo =E%Ferre + E°cu® /o =0.44+0.34 =0.78V

E.. =E 2.303RT log [Fei*] — 0.78— 2‘303"8'314"29810 g( 0.1
nF [Cu®] 2x96500 0.0]
74.* a3 ffwe ereran 2w ¢ R qresser aiw 6.0 kPa @ 11.8 kPa | @ sisan 60.0
U ¢ 40.0gm e e «26f6 s gaet Tt 9 20e geiSa onis arnT e
(a) 8.84 kPa (b) 8.958 kPa (c) 16.84 kPa (d) None of these
TAE: (a); €9, A=2q (CH,CH,OH); ¢ B = firlre (CH,OH)

- Py=6kPa @ P;=11.8kPa; m, =60gm my, =40gm

n, =j—2=1.30m{}1e; nﬂ=§9=1.25m01e

X,=—2a___ 130,
n, +n, 1.30+1.25

5 Xy =1-0.51=0.49 .. GBA™ B, P=P°X, +PX, =6x0.51+11.8x0.49 —8.84KPa

} =0.75V

75. @< Toyt RfGas An @7 o= %wmﬁrﬁmwmﬁmﬁz K, ¢ K_ a3 I+ 3@ 40.5 8 5.5

I (ArEnE R =0.082LatmK ™" mol™.
(a) 179.60 K (b) 661.26 K (c) 330.63 K (d) None of these

Y 1. {405
r: Ky =K (RT)™ a1, (RT)™ =~ o 7= L[ Ke | _ x(_o_s) ~ T=661.26K
K, RIK.) 0082 |55

76. 700K wrmm@m s 20atm St N,(g)+3H,(g) = 2NH,(g) Rfeaf smomem 21%N,
16%NH, = | f[kfeFwfos K| 97 97 o7
(a) 1.097x10%atm™ (b) 4.6x10‘zatm_z_ (c) 1.2x107atm™  (d) None of these
ST: (¢); TREE, H, =100% —(21+16)% = 63%
S Py, =0.21x20=4.2
Py, =0.63x20=12.6
Py, =0.16x20=3.2
Rfemfs 271 N, +3H, = 2NH,
S K, = Priujl T, K, = (3.2)° 3
Py, - Py, 4.2x(12.6)

77. 25°C M@l s | atm b 3R, ARG ¢ TR W7 O T —1410.92K] . - 284.24 KJ
aR —1560.24K]J | = et Sge wee sifawme so?
(a) —282.92 KJ (b) +134.92 KJ (c)—134.92 KJ (d) None of these
s (c); C,H, +H, — C,H,
fafemaT ot =(—141092-284.24) — (-1 560.24) =—134.92K]J

DR ) o |

1Y

- K, =12x107 atm™
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78. T=AG AZTR TRy Rieaw Ty =z ‘ [Ans: a]
OOCR

OH OH
CHO COOH
(a) @/ (b) @ (©) @ (d) None of these

79. UM @ TEw §I60 wawiE?

(a) 30—40% (b) 20—-30% (c) 50—-60% (d) None of these
ST (a); e 30— 40% AT J9E S 06 | STE T ST AWy |
80. =M AICl, @7 T=ifFfere fde @rraidres i bR fR[ferrm & Sy [Ans: c]
(a) O—xylene (b) P—xylene
(c) O—xylene and P —xylene (d) None of these
81. <iawrafee paite @ i s zw? | [Ans: ]
(a) Chemical reaction (b) Nuclear fusion reaction
(c) Nuclear fission reaction (d) None of these
82. wEifezze 8 f&eM Zn/Hg @3k HCI a7 #f%e f[femn s meds todt o | [ = =3-
(a) Wolffkishner reduction (b) Clemmensen reduction . [ Ans: b]
(c) Catalytic reduction (d) None of these
83. frsfas ufttes ofe Ause @iﬁﬁi‘?
CH; NO,
oalCR i ol
(a) (b) (c) | (d) None of these
NO, OH

st (d); w S 2@

._.

84. fHfer= (Si) @7 TERGEE [UHT @IG?
(a) 1s°2s°2p°3s?3p°  (b) 1s°2s?2p°3s'3p*  (c) 1s°2s?2p°3s’3p’  (d) None of these
sE: (d); 7 T67 ¢ Si(14) =1s?25°2p°3s” 3p

85. fatea @l Toudl w9de? [Ans: d]
(a) CO, (b) NO, (c¢) B,0, *  (d) None of these
86. 250ml 0.IN BIfI SIRIEHTE JI T IACS F© & ABIAN TSI AT
(a) 1.3321g (b) 1.3251¢g (c) 1.3251g (d) None of these
T (w); w=MVS N =¢eS
—294x 220 91 _ 1 225m —g=N_2
1000 6 e 6
87. ftoa (MG ENEHITHEAA AGHF ALTS? [ Ans: a]
. 0 O O
(a) | (b) | (c) | (d) None of these
Ph—C-Ph Ph—-C—-NH-NH, Ph-C-NH,
88. froa @ @i s_W Mg Seremre R «nedr Ir4?
(a) Oxalic Acid (b) Fat (c) Oil (d) None of these

saryg: (d); Afew a7 ¢ Glycerine (faifes)

O o o
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89. foe @ ciEfe d — 3@ alier ‘ ' [Ans: a]
(a) Ni (b) Na (c) Al (d) None of these

90. wbfE W e wray wie-
(a) one o and two 7t bonds (b) Three o and two 7t bonds
(c) twoo and two 7 bonds - (d) None of these

Ty (b); H-C=C-H

Al

91.  Pick up one "pair" from the following given pairs which have the most like relationship like the

given “linked pair”. [Ans : b]
MASON : WALL
(a) CONGRESSMAN : SENATOR (b) AUTHOR : BOOK
(c) SCULPTOR : STONE (d) FISHERMAN : FISHING NET

92. Choose the “appropriate preposition” to fill in the blank in the following sentence: [Ans : c]
“Mills and factories in our country throw poisonous chemicals and waste products ' water.”
(a) to (b) in (c) into (d) to

93 Choose the “synonym” of the verbal idiom “Drop out of ™. - [Ans : d]
(a) Solve (b) Write (c) Leave (d) Withdraw from

94. Find the “incorrect” sentence from the following sentences : [Ans : c]
(a) The boy absented himself from school  (b) Your conduct admits of no excuse
(c) We reached at home yesterday (d) I am sick of flattery.

95. Select the most appropriate “English translation” of the following Bengali sentence:
Q@ S 392 oY B Are” [Ans : a]

(a) You'had better go on leave in these circumstances.
(b) In this situation I order you to take leave.
(c) You should take leave as your situation in adverse.
(d) None of these. )

96. Complete the sentence by using the most “appropriate word” as given below: |Ans : c]
“Traffic speed limits are set at a level that achieves some balance between the danger of
speed and the desire of most people to travel as quickly as possible.”

(a) Normal (b) Marginal (c) Execessive '  (d) prudent

97. Select the “compound” sentence from the following sentences : [Ans : c]
(a) The enemy fled as soon as they saw us.  (b) I am glad that you have come.
(c) The enemy saw us and fled at once. (d) I have found the pen I lost.

98. Choose the “antonym” of the following word/verbal idiom: “Carry out” [Ans : a]
(a) Disobey (b) Disagree (c) Disorder (d) Refuse

99. Choose correct “indirect speech” for the following “direct speech”: [Ans : c]
He said to me, “you may come in.”
(a) He-said to me that I might go in. (b) He said to me that I can come in.
(c) He told me that I might go in. (d) He told me that I might come in.

100. Find the most correct “passive voice” for the following “active voice™: [Ans : b]
“One should keep one’s promise”.
(a) A promise should be kept by one (b) A promise should be kept
(c) One’s promise must be kept by one (d) None of these

A, | o




